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Questionl a) Y3%k2 =¥30k2 - Y10k2 =20¢c (1)
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9455 — 385 = 20c soc = — = 453.5 (1)
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c) P = {0, ,%, ....... 1}xk=%andAxk=%,take u, =x, 1<k<

;11 n(n+D), 1 v 1
Rp = (—) ( )25 — asn - Sofxdx=—(2)
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Question2 a) [——dx = [5%du u = tanx (2)

(cosx)?
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= %St‘mx +C (1)
b)y' = 2in2sinxcosx 2SO 4 pxmlgX 4 IngxTr*
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dx du
C)j\/}(2+x)=2f2+u2

= V2tan™(/x/2) + € (1)

u=+x (2)




Question3  a) [——tt dx:if

du
T60xine?—o T U= 4xinx (2)

4xlnx
= —cosh 1(

)+C (1)

u = x%?(2)

b)fxx5 _f

2 4 x5
= —sec 1(XT)+C (1)
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) [ = x=2[2 y=e3x (2)

1—e~6X 3 Y 1-u?
-2
= ?tanh_l(e_”) +C (1)
Note:the last answer implicitly assumes x > 0. Also accept the answer

_?2 coth™'(e™3*) + C



